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| learned from the lecture problems that solving any problem relating to lift or drag forces needs to start
with a free body diagram to identify all the forces. Basic geometry, trigonometry, and statics will likely
be necessary in each problem to solve for the equilibrium states. In the case of selecting a drag
coefficient, the drag coefficient for abnormal shapes is educated guesswork at best if not supported by
experimental data.

The solved homework problems taught me that interpreting the shape and selecting the correct drag
coefficient and area for the object is critical to getting accurate answers. In any case where the drag
coefficient significantly varies with Reynolds number the Reynolds number must be solved first. The
simplest problems to solve are ship resistance problems as they contain very few variables, although
what is taught in this class is likely an extremely simplified version of it.
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